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A HEXSAIS

M XIS (FELXANL/XALTAI)
el BRSO EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
HIZ XIS A 22,418,900 14,704,860 7,714,040
= 112,500 112,500 0
z 3,096,000 3,096,000 0
& 2,943,250 2,106,250 837,000
Al 16,267,150 9,390,110 6,877,040
ERZEXAXNE(RELX AN/ XL EAI) 21,116,980 14,666,980 6,450,000
= 112,500 112,500 0
z 3,096,000 3,096,000 0
L= 2,943,250 2,106,250 837,000
Al 14,965,230 9,352,230 5,613,000
= UNRP 15,162,320 9,125,320 6,037,000
= 2,942,000 2,942,000 0
< 837,000 0 837,000
Al 11,383,320 6,183,320 5,200,000
AHHEA JIESE = 100,000 0 100,000
401 AIEHIZL 20| 100,000 0 100,000
01 Al&€HI 100,000 0 100,000
O MEEAH IIESE =4 (HZVI2) 100,000 0 100,000
Sa0olok=E EH(=1) 3,866,200 3,029,200 837,000
= 2,942,000 2,942,000 0
< 837,000 0 837,000
Al 87,200 87,200 0
401 AIEHIYL 20| 3,768,200 2,931,200 837,000
= 2,931,200 2,931,200 0
< 837,000 0 837,000
01 Al&ZHI 3,768,200 2,931,200 837,000
O S3bolIot2E A =4 3,768,200 2,931,200 837,000
z 2,931,200 2,931,200 0
< 837,000 0 837,000
gaigtololk=E <A 5,000,000 0 5,000,000
401 AIEHIZL 20| 5,000,000 0 5,000,000
01 Al&ZHI 5,000,000 0 5,000,000
O SHUCOII2EEA 248I(HZII3) 3,500,000 0 3,500,000
O SCIOIOI2EE A 24 HI(XEMIAILI) 1,500,000 0 1,500,000
S RUHAESRA 222 600,000 500,000 100,000
401 AIEHIL 20| 595,000 500,000 95,000
01 Al&HI 595,000 500,000 95,000
O LHE HLSAHHZIIS) 595,000 500,000 95,000
405 Rhaks S| 5,000 0 5,000
01 MM =ZF SHI 5,000 0 5,000
O 2a v (HZII=S) 5,000 0 5,000
e XN X 5,800,660 5,387,660 413,000




2A:
X XH -
o e

=aak

HI 2RI AL
BT A S (RELX SN/ X
EFE T o f 2 K| 2

o

IS Al)

bl

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2

= 112,500 112,500 0
S 2,106,250 2,106,250 0
Al 3,581,910 3,168,910 413,000
CHEE 22 39,560 27,560 12,000
405 KHAHE SH] 12,000 0 12,000
01 TR ESF SHI 12,000 0 12,000
O EHSgs2 324 HIE 7Y 12,000 0 12,000
222X SXEEH 24 652,000 472,000 180,000
307 212t01™ 552,000 372,000 180,000
05 elzte(&r = 552,000 372,000 180,000
O =2z QRietz (2], 24l 8) 552,000 372,000 180,000
CHE MEMSE0E &S tHsH 35,000 35,000
307 212+01™ 35,000 0 35,000
04 QIZFHAIAISE 2 = 35,000 0 35,000

O SCI0IOt2E HIAEIS (MetHSE0tE
) 35,000 0 35,000
NS SA=H 25,000 0 25,000
307 212t01& 25,000 0 25,000
04 QIZFHAIAIE 2 = 25,000 0 25,000
O NSSAEHM A 25,000 0 25,000
& E FEIADN 2 288,000 182,000 106,000
307 212t01d 258,000 172,000 86,000
05 elzt?(& = 258,000 172,000 86,000
O REIZ0E! S22 258,000 172,000 86,000
401 AlEHIZ S 0HbI 20,000 0 20,000
01 AlIZHI 20,000 0 20,000
O KEIALE A& 20,000 0 20,000
SSHWLICC ENEA 18,000 0 18,000
207 AR 18,000 0 18,000
01 S| 18,000 0 18,000
O S=%e|CC LdHeet EBIFEIAL EF 18,000 0 18,000
ZI|HZXN S REEAS 237,000 500,000 263,000
201 er23 | 22,000 0 22,000
03 A2 I 22,000 0 22,000
O W=ol HAIE ZA0ILE X2 22,000 0 22,000
308 XXIHMSOIA 15,000 500,000 485,000
07 MR SHHIRE = 0 500,000 500,000

O 2J| HZXS BHMESAH GIEFEA Al
& 8 A (HZII3) 0 500,000 500,000
183 S| 2SS & AET AL 15,000 0 15,000
O gE&d 15,000 0 15,000
401 AIE2HIXL S THYI 200,000 0 200,000
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M ERATANE(FELRSANL/XALEAI)
Chel: SZXGQNL X (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2

01 AlZHI 200,000 0 200,000

O ZJ| HZX S ZHESA OEHEM Al
A= = -(HZI12))) 200,000 0 200,000
geis2 HiSd &4 300,000 0 300,000
401 AlZHIYL S THYI 300,000 0 300,000
01 Al&HI 300,000 0 300,000

O PleiSE HIOSE =8 AAIEAH (HZD
2) 300,000 0 300,000
HH2IJHI(HZ XIS AL E) (O1EHIIE) 51,920 37,880 14,040
=3t 51,920 37,880 14,040
JI=2&Hl 51,920 37,880 14,040
201 eer23y| 38,420 24,380 14,040
01 AtR2t2l] 33,620 24,380 9,240
O xtg gt 9,240 0 9,240
2 S22l 4,800 0 4,800
O Xtg S| 4,800 0 4,800
Hees (2t et/ 2t) 1,250,000 0 1,250,000
SN 1,250,000 0 1,250,000
SEHI RS 1,250,000 0 1,250,000
802 grat=JIEt 1,250,000 0 1,250,000
01 =Ex3ttE=a 950,000 0 950,000

O HZXY ZZAENL ALY ZSHXHH Bt
2 950,000 0 950,000
02 Al - EHIEXSEHEE 300,000 300,000

O HZXY ZZASHL At Zeixrol ot
& 300,000 0 300,000




